
Séquence de Nombres Linéaires (C)Remplissez les nombres qui manquent de chaque nombre linéaire.
1. 158 133 8 -17 -67Différence commune:2. 79 74 69 64 54 39 34Différence commune:3. 99 79 74 59 54Différence commune:4. 26 -349 -424 -499Différence commune:5. 187 137 62 37 -13Différence commune:6. 164 139 89 39 14Différence commune:7. 156 131 106 31 6 -44Différence commune:8. 93 43 -7 -107 -157 -207 -257 -307Différence commune: Mathslibres.com



Séquence de Nombres Linéaires (C) RéponsesRemplissez les nombres qui manquent de chaque nombre linéaire.
1. 158 133 108 83 58 33 8 -17 -42 -67Différence commune: -252. 79 74 69 64 59 54 49 44 39 34Différence commune: -53. 99 94 89 84 79 74 69 64 59 54Différence commune: -54. 176 101 26 -49 -124 -199 -274 -349 -424 -499Différence commune: -755. 212 187 162 137 112 87 62 37 12 -13Différence commune: -256. 164 139 114 89 64 39 14 -11 -36 -61Différence commune: -257. 156 131 106 81 56 31 6 -19 -44 -69Différence commune: -258. 143 93 43 -7 -57 -107 -157 -207 -257 -307Différence commune: -50Mathslibres.com


